Vocabulary Ninja
SATs Arithmetic 1

Date

First Name

Middle Name

Last Name

Date of Birth

Total Marks:

(f —

[
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70 + 1,000 =

1 mark

406 + 1,436 =

1 mark

Vs + 36 =

1 mark
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459 +1 =

1 mark

560 - 74 =

1 mark

4.7 + 1.045 =

1 mark
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= 2,200 + 900

1 mark

7 X22 =

1 mark

63 +9 =

1 mark
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237 X 3 =

10

3,527 - 705 =
11

53=
12

1 mark
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- 100 = 2,058

13

65+ (2x15) =
14

Y6 x %5 =
15

1 mark
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16 40 x 70 =

1 mark

40 x 3,000 =

1 mark

4635 +5=
18

1 mark
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0.7 +100 =

19
1 mark
4,302 x 100 =
1 mark
21 1 6|8 9 6
Show
your
method
2 mark
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7-1.45 =

2
1 mark
23 3 4 1 6
X 3 2
2 mark
15% x 400 =
24
1 mark
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90% of 1,450 =

RS
1 mark
36 6 0 4
X 2 5
2 mark
37.5-14.795 =
Q7
1 mark
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2 24 —
T 7

1 marks

1 mark

7% of 400 =
30

1 mark
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% - Vo =

31

1 mark

2 marks

2 2
5 22 + 243

1 mark
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0.7 x 400 =

34
1 mark
112 X 46 =
35
1 mark
54 -
8 = -
s /8%3

1 mark
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Arithmetic 1 Answers

1,070

1,842

430,200

Y5

56 (2)

459

5.55

486

13,312 (2)

5.745

60

3,100

1,305

154

15,100 (2)

7

22.705

711

1Y

2,822

v

35

125

28

2,158

7

24

95

131 (2)

2/ or%

37

2800

280

120,000

69

927

VA

24

0.007
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